JESL  |#BERFR (IR | EBREIEISONT I GABA REE () Brix (%) THER (ppm)
1|EAR  |4RE FyVENZHDER AR TRt 1 17.4 8.8 163
1[H=#  |3%E BT FILITELTLNS $HEZ 218 14.1 8.8 737
2|BHME  [3RA PBHEI=-aTFILICELTLD $HEZ 177 14.5 6.7 343
3|#EAR  [3RB FYVENZHDER $HEZ 170 38.1 6.2 340
4|RHE  |3K%E PBHEI=-aTFILISELTLD $HEZ 169 242 75 607
S|#HFNE |48 PBHEI=-aTFILISELTLD $HEZ 157 26.8 5.8 223
6| @R |48 FyVENZHDER $HEZ 156 12.3 7.6 180
7|FER  [3ERA PBHEI=-2TFILISELTLD $HEZ 155 217 8.1 560
8| KMRAF  [3ERB FYVENZHDER $HEZ 148 11.3 6.8 457
IRHE [3RA PBHEI=-aTFILISELTLD $HEZ 139 16.8 7.2 323

10|FXE |3%H PBHEI=-aTFILISELTLD $HEZ 129 14.0 8.2 630
11|EE |48 BHEI=-aTFILISELTLD $HEZ 112 9.2 7.7 177
12|Rm#B  [3RH PBHEI=-2TFILISELTLD $HEZ 108 16.6 6.5 347
13[wne |48 PBHEI=-aTFILISELTLD $HEZ 94 20.9 75 303
14|4ti#EiE 3% E HE<=aT7I LTwad $HER 88 19.5 7.9 370
15[%ER 48 BIET =2 FNICELTWLD $HER 46 16.3 6.8 430
1[RH 38 HET=a2 T P 192 20.7 7.8 220
2|dtimE 38 BIET =2 FNICELTWLD 1R 212 16.8 7.8 317
3|REH 38 FYVENZHDER P 211 113 7.2 277
4| KBRAF 38 T =TI P 201 145 6.6 203
S5|&KBR 38 P 197 20.4 65 353
6lFAR  |38E BT =1 FIICELTLND P 189 26.4 7.0 397
7|REUR  |5EE FyVENZHDER P 188 16.8 7.6 230
8|MEILE ABRE HEY=—aTIICELTLD P 185 24.4 7.3 563
9|=ER [3RA BT =1 FIVICELTLND Pl 184 237
10[Z&BR 38 BET =2 FNICELTWLD P 179 23.9 7.0 643
11|81RE 48 FYVENSHDER P 177 16.3 7.8 403
12|4ti#iE 38 BIET—aFNICELTWLD 1R 176 22.4 7.8 260
13[ZER 38 s LENZHDERE (FISELRRKE) P 176 18.1 8.4 217
14|@WE 48 rSLENZHOERE (EITHLRRE) P 176 16.3 5.8 357
15| =R [4RE PEI=-ITFILIZELTLD P 175 20.3 6.8 430
16|#=/IR [3%E HET=aTI LTad P 174 27.1 7.8 477
17| =R [3E PEI=-ITFILISELTLD P 172 224 6.5 303
18| EFER 48 BET =2 FNICELTWLD P 172 15.8 7.8 213
19| IixR 38 FYVENZHDER P 172 25.1 7.0 317
20| =W [3RH BT =1 FIICELTLND P 171 27.2 6.4 360
21 | RERE 48 BIET—aFNICELTWLD P 7 18.4 7.2 463
22| FRER 38 FYVENZHDER P 170 175 8.6 510
23| KRR FF 48 HET =2 FNICELTWLD P 169 175 8.8 233
24| mE)IR [3B%E FYVENZHDER P 168 18.2 7.2 373
25|FER el24=] FYVENSHDER P 167 235 6.7 293
26| TER LEEE] FIET =TI P 167 18.2 6.6 270
27| EWR 38 HEI=—aTIICELTLD P 165 23.8 7.3 730
28| EWME AR H SAISLENSHOER (FITELAIKE) P 163 23.8 6.3 193
29| KR 38 FIET =TI P 162 21.4 6.2 753
30|HHBR LEEE] HEI =2 FILIS P 161 18.0 7.0 643
31[4timE 38 SAISLENSHOER (EITELAIKE) P 159 13.9 7.1 240
32|FER 38 HEI=—aTIICELTLD P 158 26.6 7.2 473
33| HBR 38 HET =2 FNICELTWLD P 157 14.6 6.4 313
34| KBRFF [32:4E] FYVENSHDER P 153 27.8 77 250
35|EER LEEE] HET=aFNICELTWLD P 153 115 6.7 617
36| FER 38 HET=aFNICELTWLD P 152 17.6 75 270
37| RER 38 SAISLENSHOER (EITELAIKE) P 151 26.4 8.1 457
38| ABRAF 48 HET =2 FNICELTWLD P 149 15.6 7.2 230
39| HER 3% E HEY=—aTIICELTLD P 146 16.8 5.6 343
40| EHR 38 FYVENZHDER P 146 19.3 6.3 447
AL|KIRAF  |SERE BET= 1 FZIICELTLND Pl 145 28.3 7.4 327
42| R R LEEE] P 145 18.1 76 580
43| ZHR 3% E P 145 24.1 6.6 460
44| #ER 4B BET= 2 FZIICELTLND P 142 20.2 9.0 220
AS[REAR  [3ERE SASLBHNEONERE (FISELRRKE) b 142 10.7 7.3 343
46|HER 3B FYVENEHDER P 140 204 5.5 497
47| KBRAF 3B BET=aAFNICELTWLD 18 138 26.1 6.9 363
48| ZIER AR E HBET 1 FIVICELTNS 18 138 225 6.3 257
49|BMB |4k SASLENSHOER (EISELERE) b 137 21.2 6.7 317
S0[ER 3B HBET 1 FILICELTNS 18 136 18.9 6.6 210
51|84k R AR E BET =2 FNICELTWLD P 135 18.6 7.3 753
52| ZHR 3B FYVERNEHDER P 134 21.0 7.2 577
S53|ER  [3E%H BT -1 FLITELTNS [t 133 312 6.8 303
54| B8R 3B HET=a2TIL LT3 P 133 30.6 6.6 537
S5[®#zIR |3%E BET=aAFNICELTWLD P 132 15.0 71 540
56| IR 3B E HEX=aTI LT3 18 131 19.0 6.0 197
S7[#zT)NE |48 HEI=aTIL LT3 P 130 147 6.8 300
S8|AFR AR E HET =2 FNICELTLD P 126 133 6.0 240
59| @R 3B HER=aTI LTwnsd P 125 20.1 8.0 773
60| FR#AR SEE BET =2 FNICELTWLD P 124 16.8 71 273
61| FER el24=] FYVERNEHDER P 123 29.4 6.1 437
62| EER 3B BET=aAFNICELTWLD P 122 16.4 8.4 450
63|HER  [4EEH BT FLITELTNS [t 122 26.1 6.1 370
64|1EER SEE HET=a2TIL LT3 P 121 265 76 353
65| EER 3B BET =2 FNICELTWLD P 120 29.2 71 263
66| ZIER SEH FYVENSHDER b 117 24.4 7.3 357
67 |18+ R 38 HET =2 FNICELTLD b 116 15.0 74 460
68| ZMR 38 HEX=a T LTt b 116 19.5 7.2 253
69| B 3B HET =2 FNICELTLD P 116 26.8 7.5 187
70| ZHR 3B HEIZaATFILIZELTLS P 115 27.7 6.7 380
71 WLWEE (3% H SHASLBHNEONER (FISELRRE) il 115 22.1 7.0 650
2I=88 AR E FYVEBNEHDER P 113 17.6 9.1 350
BEBR 38 FYVEBNEHDER P 112 145 7.0 540
TA|FIILR |4BRE HEI—aTIICELTLS P 105 22.3 8.1 390
75| KR AF A% E HEI—aATFILICELTLS 18 104 21.8 6.9 197
76| REBFF (3R H FyYRNEHDER b 102 26.5 6.6 373
T7|#ENIIR|3RE HEX=—aTFNICELTWLD b 97 135 75 197
78|4timiE 3k E LTt b 93 21.5 6.7 343
TIBER 38 HEX=—aTFNICELTWLD b 92 31.3 5.9 463
80 |#&EFE R 48 SEINENZHOER (EITELRIRE) b 92 13.0 6.9 610




IR (#ERFR (IR |MEREEICONT fdigi e GABA RXE (9 Brix (%) 4B (ppm)
81|mWIR 428 SHAITLENEHOER (EICELARE) P 92 144 6.6 480
82|BME  [4BH BHEI=-aTFILISELTLD P 92 239 8.5 373
83| XMRFF  |4BxH FyVENZHDER P 92 14.8 9.0 570
84|HRE  |5ExE PBHEI=-aTFIICELTLD P 88 14.0 8.5 267
85[#E#E  |3%H LTLd P 85 13.0 5.3 333
86| |4BH LTLd P 84 8.9 6.3 300
87|MEXRE  [4FxE LTLd P 78 17.9 4.9 123
88| FHE [3fkH LTLd P 78 14.6 7.7 430
89| g8  [SEXHE LTLd P 73 14.2 6.7 313
[z IE |48 LTud P 72 11.1 7.0 377
91|B48  [4FxH LTLd P 69 233 7.9 283
2|8  |5KE LTLd P 67 15.6 7.7 267
93|=IFE  |4BE SHELTWLD P 48 212 6.3 230
94|5mE  |5BE FYVENZHDER P 38 14.8 75 197
95|=IFR 38 FYVENZHDER P 156 23.4 75 553
%EBR 38 BIET =2 FNICELTWLD P 59 18.4 71 427
97 |IFRIR 3B E 167 315 6.2 247
98| FEER 48 B 127 6.4 83 643
N ERSR [3%E BE 133 23.9

100(# M2 3B E 116 24.5 6.2 267
101|F%E82 48 B 149 18.7 7.2 420
102(|F/INR 4B PEI=aTFILISELTLD Bz 101 13.6 75 637
103 |ZmME 3% E FYVBHNEHDER BE 177 17.0 7.3 537
104|#mE R 48 FYVENZHDER BE 168 17.9 6.9 307
105|#m R 38 BET =2 FNICELTWLD BE 116 21.7 7.8 253
106[#%IIR |3%E BET =2 FNICELTWLD BE 103 115 6.0 373
107 |RRH 48 SRINENSHOERE (EITELAIKE) BE 199 103 6.1 443
108[R#RAT  |SERE BT FILITELTLS BE 158 19.9 6.8 403
109|ZmE ABRE HEv =27 LTuad BE 61 20.1 8.6 257
110[#mMIR  |4BRE PHEI=-2TFILISELTLS B 72 29.2 6.2 270
1EHR 38 HET =TI LTt IR 168 24.5 56 237
2| FHRHD 38 BIET =2 FNICELTWLD KB 201 22.3 65 217
3|HRAR 38 FYVBHNEHDER TR 194 129 6.3 297
4|HRER AR E BET =2 FNICELTWLD KB 189 13.0 71 227
S| RARRE 48 FyVERNSHDER KL 163 19.3 6.0 457
6| KBRAF 38 FyVEBNZHDER K HLE Ul 14.9 65 247
7| RBRAFF 3B HEY=—aTIICELTLD KB 130 17.6 74 477
1[FR# 38 HET—aFNICELTWLD F5vhE— 408 8.4 8.7 663
2| ZAME 38 HHEI=aTIL LTtnsd F5vhE— 320 85 9.1 560
3|BER 3% E HE<=a T LTua F5vhE— 273 124 9.3 750
4|EER LEEE] HET=aFNICELTWLD F5vhE— 266 10.2 8.2 673
S|ih#R ABRE HER=aTI LTua F5vhE— 260 11.9 6.5 617
6|ERSR [3RA HET—aFNICELTWLD F5vhE— 259 11.2 9.1 190
T|RERR 38 SAISLENSHOER (FITELAIKE) F5vhE— 235 5.7 6.2 377
S|MTNR |3%E FIET =TI F5vhE— 231 124 6.2 280
O | RERAT [32:4E] F5vhE— 213 12.8 77 350
10|#=IIR [3E%E F5vhE— 201 21.3 5.5 317
11| %8 38 F5vhE— 197 115 7.2 287
12| FHR 3% E F5vhE— 194 12.6 8.8 540
13| wENIR [4E%E F5vhE— 190 10.2 8.1 317
14 |HRHR LEEE] F5vhE— 183 8.7 83 547
15| FR#ER 38 F5vhE— 180 12.0 5.3 457
16|HER 3% E F5vhE— 177 155 8.4 410
17|#=)IIR 3B F5vhE— 174 19.1 6.0 267
18|EBR 38 HET =2 FNICELTWLD F5vhE— 17 18.9 7.0 517
19| XBRAF [32:4E] HEX =TI LTtnsd F5vhE— 154 13.9 6.4 393
20|BFHR 48 HHEI=aTIL LTtnsd F5vhE— 152 24.4 73 193
21| EER 38 HEX =TI LTtnsd F5vhE— 150 116 76 720
22| FRER 38 HHEI=aTIL LTtnsd F5vhE— 146 25.1 7.0 547
23|=818 [32:4E] HET =2 FNICELTLD F5vhE— 127 10.9 7.2 310
24|15k R AR E HET=a2TIL LTnad ISv8— 127 229 6.9 563
25|IFE R 3B HEX=aTI LTtwnad IF5vE— 114 14.9 7.7 493
26|F)IIR 4B B HEY=—aTIICELTLS IF5vE— 114 16.6 7.6 367
27|HER AR E HBET 1 FIVICELTNS IS8 — 108 85 76 650
28| KR 3B SHRSNENEHOEE (EITELRRE) IF5vE— 103 39.8 3.8 337
29 |15k R AR E HET=aAFNICELTLD 52 100 8.8
30| AR 3B HER=aTI LTtwnad 97 235 6.8 203
31| ZHR SEE HEI=aTIL LT3 96 113 75 727
32| AR SEH HET=aTIL LTna 86 155 6.4 463
33| FHm#R SEE HET=a2TIL LT3 84 9.4 71 250
34| BHR SEE BET=aAFNICELTWLD 84 18.1 5.6 210
35| XHER SEE HET=aTIL LT3 81 5.9 8.1 403
36| FHER AR E HEI=aTIL LT3 52 83 8.0 240
37|EEBR AR E HET =2 FNICELTLD 217 195 71 277
1[#ER 3B HET=a2TIL LT3 168 126 6.9 607
2| EER 3B BET =2 FNICELTWLD 169 29.4 7.8 190
3|BNER AR E FYVERNEHDER 117 19.9 6.2 237




